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1. Please find an equation of the tangent line to the graph of S(x)=3x*+2x> -7x at x=-1. 10%

(@) y=0 (b) y=8 (¢) y=-13x-5 (d) y=12x"+6x" -7 (¢) y=-13

2. Please find slope of the tangent line to the graph of f (x)=-x"+6x at (4, f(4)).10%
@8 (b)-2 (c)2 (d) (e) -=

13- Please find slope of the tangent line to the graph of x>+ y> =4 at the pomts corresponding to—{————-

x=1.10%
(a) 31/2 (b) 3—1/2 (c)_3—1/2 (d) _31/2 (e) 0

4. Evaluate [(x*+2)°x dr.10%

(@) é(x2 +2)* (b %(38 +2)*+C (00 (d) 3(x*+2)* (¢) 3(x*+2)*+ C, where C is constant
term
5. Differentiate y=5x’ ——14— . 10%.
X
(a) dy/dx =15x" +f‘; (b) dy/dx =15x* +i5 (¢) dy/dx =5x* -%
. X X X

(d) dy/dxi15x2~;c4i5 (e dy/dx=_15x2 +;4?

6. Determine the interval(s) on which f(x)=—-x* + %xz is concave upward. 10%
3 3. 3 3 33
(@) (-oé, -5) (b) (-0, 5) (©) (5, o) (d) (-5, ) (e) (-53-2*) o

2
X

7. Find the critical point(s) of f(x)=
@1 (b)-1 (-2 ()0 (e)2

20%
1

8. Find extremum/extrema of f(x)=x’ —3x> -24x+2 on the intervals [-3,1] and [-3,8]. 20%
(@) -2 (b)-24 (c)30 (d)-78 (e) 130 '




